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= 31,962
= 4,109

IR EEErEET] 36,071 43,286 A7,215




SN OlAIFE D
HE: ObE - 0lS U SSA(MESN/2S -t

IR
Ha
2
0x

& Ots=XMEIA XA (ctel: &
SNBSS - HRAY - BHES 0 & o4 e HlnE2

OXFMOls Y&AA=E BEX= X2 36,071
= 31,962
& 4,109

QESOE I8 B8 2gXa(=21) 358,991 349,560 9,431
= 247,580
& 111,411

308 XXIEHMSO0IE 358,991 349,560 9,431
= 247,580
3 111,411

01 RXSHNBMNEXLZ 358,991 349,560 9,431
OREsSlls 188 2Z 1A 358,991
= 247,580
& 111,411

I LEOIS MollEEE KR (=21) 123,240 169,850 A46,610
= 109,200
& 14,040

308 XXEHMSOIE 123,240 169,850 246,610
= 109,200
= 14,040

01 XIXSHHBLAEXS 123,240 169,850 A46,610
OMEE = 123,240
= 109,200
& 14,040

OtsSZEX2AR XA (Z21) 505,095 505,095 0
= 447,552
& 57,543

308 XXIEHMSOIHE 505,095 505,095 0
= 447,552
& 57,543

01 XXSHHBLAEES 505,095 505,095 0
OCDA DHE X & Z 505,095
= 447,552
& 57,543

OlSEXAE &5(=1) 265,300 267,033 A1,733
= 196,000




SN OlAIFE D
HE: ObE - 0lS U SSA(MESN/2S -t

IR
Ha
2
0x

& Ots=XMEIA XA (el &)
SN HB G (BH) - MRAY - BES 0l & e Hlm= 2
Ots=XA4E &&5(=21) = 69,300

402 QIZ2EX =0 30,000 41,980 211,980
= 15,000
= 15,000

01 BIZEXI=22 X 30,000 41,980 211,980
OLABSANE JIsEd XA 30,000
= 15,000
= 15,000

403 XXIEMS 201 235,300 225,053 10,247
= 181,000
= 54,300

01 XXSHHA2EX 235,300 225,053 10,247
OtsL=EAd JIsEL XA 235,300
= 181,000
& 54,300

OISLABSAE 2 351,650 338,400 13,250
= 210,990
& 140,660

307 glztold 351,650 338,400 13,250
= 210,990
& 140,660

02 BlZtFAE=X 351,650 338,400 13,250
OO0tsLAESAE 2 351,650
= 210,990
< 140,660

=282l 29 540,920 464,600 76,320
= 324,552
= 216,368

307 glz2told 540,920 464,600 76,320
= 324,552
& 216,368

02 BlZtFAE=X 540,920 464,600 76,320
OOEEEHSIIE 2% 540,920
=z 324,552
< 216,368




A 0EIED

HH: OIE - 0lS U SSNV(MSZN/2S - IEL0A)
& Ots=XMEIA XA (el &)
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
)| 2 183,000 180,000 3,000
= 91,500
= 91,500

307 glz2told 183,000 180,000 3,000
= 91,500
= 91,500

02 BIZHEANEZX 183,000 180,000 3,000
ozl 24 183,000
& 91,500
== 91,500

NEAEXNHH 24 155,500 154,000 1,500
= 77,750
= 77,750

307 gQiz2tolA 155,500 154,000 1,500
= 77,750
& 77,750

02 BIZHEANE X 155,500 154,000 1,500
QIEREXALH 2Z 155,500
& 77,750
< 77,750

OtsEAY SEAMUIA(=1) 800,000 0 800,000
= 800,000

308 AtXIHHMSOIH 800,000 0 800,000
= 800,000

01 XXSHNBNEXEZ 800,000 0 800,000
OOtSHAE SEMHIA MB 800,000
= 800,000

? AEE Ot2 29 371,000 0 371,000

201 eI 7,300 0 7,300

01 At 2eld] 7,300 0 7,300
O% AEELIE ?I2s 29 6,000
O% - SEAEE UESSAIAN L= 1,300

301 Lptsazg 3,700 0 3,700

10 SAAHIEANS 3,700 0 3,700




SA
OIS - 01E % 2SXR(AE=X/2S - O}

chel:

X ZH
(=]

RSN

Jn
0

Ots=XAHIA X2

SA-EH O (BH) - HBAY - B2 Ofl A o4 dd = HRS2
O & 04
OnsEAX AHIE A 3,700
308 AXIEXMSOIA 360,000 0 360,000
01 XXNHMBIAEXZ 360,000 0 360,000
O% AEE 012 89 A& 360,000
BFAHIA 23 92,496,315 66,847,987 25,648,328
= 69,626,427
== 22,869,888
EEAE & 21,500 29,800 A8,300
201 LBt2AH| 9,000 9,000 0
01 AtR222/d| 9,000 9,000 0
OBEHHARAS 29 5,000
OE=S A WA & 4,000
202 O] 12,500 10,800 1,700
01 =2WAbI 12,500 10,800 1,700
OEEAY =& 8,500
OBESA&ENEEA 4,000
T EESYBHMHE 29(=21) 200,000 200,000 0
= 100,000
= 100,000
307 QIZtolA 200,000 200,000 0
= 100,000
& 100,000
02 QUABAEX 200,000 200,000 0
O BExdZHH 29 200,000
= 100,000
o= 100,000
EAHIASAFN 32,500 50,000 A 17,500
307 QI2tolA 10,000 20,000 A 10,000
02 QI2HEAMNEX 10,000 20,000 A 10,000
OESAEHIICES TEAY 10,000
308 AXISHHMSOIA 22,500 30,000 AT,500
01 XXNHHBIAZXZ 22,500 30,000 A7,500
OE=83 =2MuUE 22,500




SN OEIED
HH: OIE - 0ls L BSNV(MSZN/2S - IEL0A)

ol HIS AHIA 23 CERED
] _ _ PIEL=
2N - FHH..2A(SH) - HIEAMY - BHAS (O] AFCH lOﬂ/l\_Fo” Hlw=2
SHEAA EAN BADS 2&(21) 84.900 87.000 £2.100
2 42,450
= 42,450
307 Q20| & 84,900 87.000 A2.100
= 42,450
= 42,450
2 QNFADE 84.900 87.000 72,100
OHSALEAL B40S 84.900
2 42,450
< 42,450
HEAA NASZO0IE X2 588,000 672.000 A84.000
308 XSSOl 588,000 672,000 A84.000
N NACHAARED 588,000 672.000 784,000
OMASZE Ol 94 N 588,000
HEAL SHAE SAT S 231,795 159,740 72,085
308 TXISHHISOI® 231,795 159,740 72,085
0 AR ED 231,79 159,740 72,055
OESAE SEI| oy 115,155
OESAE DD 52,140
OS4adsAL HIHBSSH 64.500
SEAS BEWH XR(2D) 740,967 516,347 204,620
2 569,975
= 170,992
408 TEISHSK=0A 740,967 516,347 224,620
2 569,975
= 170,992
0 A G=2x 740.967 516,347 224620
o=H= 302,367
2 247,975
= 74,392
o~ 409,500
2 315,000
< 94.500
oRYIEY 9. 100




SA

RSN

BE: OIS OS2 PSRNV (MISX/2S - IS0
o9l ESHUIA 25 (S92l
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
= 7,000
o= 2,100
HEAE SAMIF ALHEXR 606,450 600,720 5,730
308 XNXSHMSOIA 606,450 600,720 5,730
01 AXSHHIABEXTZ 606,450 600,720 5,730
OCIZIBSAIE ELWAF HLLIHA I 397,800
OEFRAAE SAHL 2R 152,130
OXOHOF AL BEA = 11,520
OE=SAIE M WAF 2124H K& 45,000
BESAE g5 X2 (21D) 78,000 488,150 A410,150
= 60,000
= 18,000
403 XXM SK201H 78,000 488,150 A410,150
= 60,000
== 18,000
01 AXESHA=2E=X 78,000 488,150 A410,150
OJIAH M+ 78,000
= 60,000
== 18,000
BFAESAMAN F2EMHD 20,000 38,000 A 18,000
308 XHXIEHXMSOIA 20,000 38,000 A 18,000
01 AXSHHIABEZ 20,000 38,000 18,000
OZ&doelold storsutal 20,000
ESAIE SALL 2] XK (=2D) 24,434,279 21,985,083 2,449,196
= 18,795,599
== 5,638,680
308 AXIEHXSOIA 24,434,279 21,985,083 2,449,196
= 18,795,599
= 5,638,680
01 XXNHHBIAEZXZ 24,434,279 21,985,083 2,449,196
OBRESSMUIA(SAFACIZ2AH]) 24,434,279
= 18,795,599
o= 5,638,680
BREFBHH 29 X 18,000 18,000 0




SN OEIED
HE: ObE - 0lS U PSRN (MESN/2S -t

IR
Ha
2
0x

Ciol: HEAHIA 243 R
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
308 KHAIEHSOIA 18,000 18,000 0
01 RXNSHHBABES 18,000 18,000 0
©0121H| 14,400
o2 3,600
BSAE DHRTY XNV(2D) 299,460 347,780 148,320
= 230,354
= 69, 106
308 KHAIEHSOIA 299,460 347,780 148,320
=2 230,354
< 69, 106
01 RXNSHIS2ES 299,460 347,780 148,320
ORIZAIE DR T 299,460
2 230,354
< 69,106
ESAE M2 NL(2D) 368,605 408,274 39,669
= 283,542
= 85,063
308 KHAIEHSOIA 368,605 408,274 39,669
2 283,542
< 85,063
01 RNSHSHEES 368,605 408,274 139,669
ozl 368,605
= 283,542
= 85,063
HASE HS2SE NA(2D) 50,564,904 24,651,443 25,913,461
= 38,896,080
= 11,668,824
308 RHXISHAISOIA 50,564,904 24,651,443 25,913,461
= 38,896,080
= 11,668,824
01 RXSHBARES 50,564,904 24,651,443 25,913,461
ONSBSE XA(1-55) 50,564,904
=2 33,896,080
< 11,668,824




SN OEIED
HE: ObE - 0lS U PSRN (MESN/2S -t

IR
Ha
2
0x

ciol: 2RAHIA 23 (E9): & @
SN -3H - S2A(2AH) - NRAY - BE= Off & 2K %Egﬁ HusZ

Q5K OF PAESSX(21) 7,499,041 6,493,396 1,005,645
=2 5,768,493
= 1,730,548

308 XAIEHESO0IA 7,499,041 6,493,396 1,005,645
=2 5,768,493
= 1,730,548

01 RXSHBHEES 7,499,041 6,493,396 1,005,645
OBI5KIOF S 2K 7,499,041
=2 5,768,493
= 1,730,548

ZO0HOF RAEEE K™ (21D) 1,512,671 1,074,510 438, 161
=2 1,163,593
= 349,078

308 KAEHSOIA 1,512,671 1,074,510 438,161
=2 1,163,593
= 349,078

01 RASHZYEES 1,512,671 1,074,510 438,161
OO PAEKE N 1,512,671
=2 1,163,593
= 349,078

SHO0IA HKEXS(2D) 3,553,083 1,731,265 1,821,818
=2 2,733,141
= 819,942

308 KHAIEHSOIA 3,553,083 1,731,265 1,821,818
= 2,733, 141
= 819,942

01 RXSHBARES 3,553,083 1,731,265 1,821,818
SXHA 014 2REXH 3,553,083
2 2,733,141
= 819,942

AIE0I0IZ20lS ST & (2D) 1,255,410 0 1,255,410
2 965,700
= 289,710

308 KHAIHSOIA 1,255,410 0 1,255,410
=2 965,700




SN OlAIFE D
HE: ObE - 0lS U PSRN (MESN/2S -t

IR
Ha
2
0x

ol HIS AHIA 23 CERED
] _ _ PIEL=
2N - FHH..2A(SH) - HIEAMY - BHAS (O] AFCH lOﬂ/l\_FO” Hlw=2
308 XSSOl ® = 289,710
N NACHAARED 1.255.410 0 1255410
SSAE 00|B0IS AT 255,410
2 965,700
< 289,710
TONOIERAIE B2)E (2 D) 22 750 0 22,750
= 17.500
c 5,250
408 TESHSTH=0IA 22 750 0 22 750
2 17,500
= 5.250
0 NS G=2x 22 750 0 22750
o~ 19,500
2 15.000
< 4,500
T 3.250
2 2,500
°c 750
ONENNE 2ss s 364000 0 364,000
308 TXISHHIS Ol 364,000 0 364,000
0 NIACHZAEED 364.000 0 364,000
OMMO 04 B82 TR 364,000
S8 22| (014 b= 1H) (1 B/ EF) 34,810 3,558 2 25
=2l 34.810 32,558 2 25
SheY I =) 34.810 32,558 2 25
201 YBre oy 22 130 20 558 ~428
DT 22 130 22 558 7428
OS A2 A2 BRI 22130
202 OfH| 7,680 9.600 A1.920
01 =uol 7 680 9.600 ~1.920
OS2 2 ofH| 7,680
405 THaHE S| 5,000 400 4,600
0 NEZ=EF=0) 5.000 200 2600
O A (10H) 5.000




